[ ]/dY =AE* LABJIND dY=A[1+A,/A1Y]

Tor achromatic colours X Yy Y

in WN-direction -1.0 0.0381.8
-0.5 0.0575.6
00 0115180
05 0.30156.9
1.0 0.887180

A,lA; =0.1576
Ay =0.0302 A = 0.004

Rich+Kitt_PO2_026A
(xy,Y}=(0,33, 0,36, 18)

p————
-05 0,0 05 1,0 x=log[Y/Yyq
36 18 90 180 Y




]/dY =AE* LABJIND dY=Aq[1+A,/A;Y]

for achromatic colours X dY, Y

in WN-direction -1.0 0.036 1.8
-0.5 0.0515.6
0.0 0.09818.0
0.5 0.24856.9
1.0 0.721180
AylA; =0.1287
0 A;=0.0298 A = 0.003!
1 Az=1.542 A =0.873
1
1

Rich+Kitt_PO4_095A

(x,y,Y)=(0,33, 0,36, 18)

e
-05 0,0 05 1,0 x=log[Y/Yyq
36 18 90 180 Y




]/dY =AE* LABJIND dY=Aq[1+A,/A;Y]

for achromatic colours X dY, Y

in WN-direction -1.0 0.036 1.8
-0.5 0.0495.6
0.0 0.09 18.0
05 0.22 56.9
1.0 0.632180
A /A; =0.1086

1

- A;=0.0307 A =0.003

1 A3=0633 A =0883

1 A5=0.2041 Rich+Kitt_POS_650A
(xy,Y)=(0,33, 0,36, 18)

...p..
-05 0,0 05 1,0 x=log[Y/Yyq
36 18 90 180 Y




